Q.P. Code :02817
[Time: 21/2] [ Marks:75]

Please check whether you have got the right question paper.
N.B: 1. All questions are compulsory.
2. Figures to the right indicate full marks
3. Use of simple calculator is permitted

Q1 Explain any two of the following: 15
a) Meaning and Goals of corporate trance
b) Agency Problem
c) Partnership

Q2 Discuss any two of the following: 15
a) Debentures
b) Internal accruals
c) Hybrid financing

Q3  Answer any two of the following: 15
a) Explain Time Value of money
b) Calculate the pack back period for the following firm which wishes to invest Rs 8,000 in a machine.
The cash inflows are given below.

Year 1 2 3 4
Cash inflow (Rs) 6.000 2,000 1,000 5,000

ii) Discuss the merits of Discounted Payback Method.

c) A company wants to buy a machine. There are two alternate choices- machines X and Y. The relevant
particulars are as under.

year Machine X cash inflow(Rs) Machine y cash inflow(Rs)
1 78,000 97,500
2 58,500 78,000
3 71,500 84,500
4 52,000 71,500
5 52,000 65,000

Cost of machine X=Rs 10,00,000
Cost of machine y=Rs 12,00,000
Calculate Average Rate of Return (ARR)and suggest which machine the company should buy.

P.T.O.



Q4

Q5
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Answer any two of the following: 15
a) Compare NPV and IRR methods of capital budgeting.
b) A firm whose cost of capital is 10% is considering two mutually exclusive projects X and Y the details of
which are given below. Calculate the Net Present value (NPV) and advise which project has to be

selected.
year Project X-cash in Project y cash in flow | 10 %discount factor
flow(Rs) (Rs)
1 10,000 50,000 0.91
2 20,000 40,000 0.83
3 30,000 20,000 0.75
4 45,000 10,000 0.68
5 60,000 10,000 0.62

The projects involve an investment of Rs. 70,000 each.

c) From the information given below, calculate the Internal Rate of Return (I.R.R)

Year 1 2 3 4 5

Net Cash inflow (Rs) | 2,36,000 1,20,000 80,000 28,000 26,000

Discount factor 10% | 0.91 0.83 0.75 0.68 0.62
20% | 0.83 0.69 0.58 0.48 0.41

Initial investment = Rs 3,90,000

Write explanatory notes on any three of the following: 15
A) Functions of a Finance Manager
B) Corporate Governance
C) Equity
D) Simple Payback method
E) Profitability index
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